Excellence question on surd equations.
Solve for x.


               x         +           (x – 1)      =       3
          (x – 1)                      x                   √2

______________________________________________________________
Solution: Squaring both sides we get:
     x              +       x – 1     +  2        =     9
(x – 1)                       x                             2

     x              +       x – 1             =     5
(x – 1)                       x                       2

     x    (x)           +       (x – 1)(x – 1)             =     5
(x – 1)(x)                           x (x – 1)                      2

                  x2       +       x2 – 2x + 1              = 5
                            x2 – x                                    2 
                                       4x2 – 4x + 2          = 5x2 – 5x
                                                         0         = x2 – x – 2 
                                                        0          = (x + 1)(x – 2)     

                             x = 2 or  – 1    
check :
	If x = 2

Lhs = √2  +  √2
                      2

      =  3√2     =   rhs

          2

So x = 2 is valid
	If x =  – 1 

Lhs = √  – 1        +   √  –2   = 3√2     
               – 2                 –1        2

      = rhs

So x =  – 1 is also valid
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